102



16 18
1
15 17
1

[
O  H,C—O—C—CyHp H,C—OH
H,,C;—C—O0—CH _NaoH 3( o Ng)) + HC—OH

Hy,Ci—C—O |
HZC—O—|C|I—CnHm H,C—OH
n=15or 17, m=31or 330r 35 8-1

103



1
§§¢ °
o) N
o, 0O \\// 6)
I N4 /C\ 4 /S\ S
PIONIC) PN
RTTNC RE2C 4
: H H
(@) (0] ' H) Y% /( % 2 o
N\ \ O. C C o)
o Ao A AL O T
¢ o) 6 0 H, 8 |
5 2 7 o)
Cim CHs  HsC_. CH CH Q
TRCTOTYRCT \% 3@ RO 2 &
R \CH3 R~ R o TN o N TN \O@
10 H2 1 H, H, 12
4 H : H 4 Hy - H,
o_ _C o_ _C R. lo_ _cC R N c
R ¢~ %OH hogl %OH S e %OH > N \OH>2
Hy H, [ H, [ H;
13 14 o) 15 o} 16
R
H.O
¢ OH
7, oH\
19
OH

R 12 18
1950

104



20
C2HClI3s
C2Cla

105



Bregnsted
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pKa 15.70 pKa

pKa

pKa  4.75
pKa  3.09
pKa  6.37 10.25
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